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FC21 - <hors ligne>

Nom : Famille :
Auteur : Version : 0.1
Version de bloc : 2
Horodatage Code : 20/10/2017 11:21:47
Interface : 25/09/2015 09:45:08

Longueur (bloc/code /données locales) : 00294 00194 00000

Nom Type de données  Adresse  Commentaire

IN 0.0

ouT 0

IN_OUT 0.0

TEMP 0.0

RETURN 0.0

RET_VAL 0.0

[Bloc : FC21 Cycle tapis 1 - V1 tapis 2 V2

|Réseau:1 Tapis 1

M20.0 >=1
"M20.0" 1111.1
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M20.1
"M20.1"
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112.6 &
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112.6
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"M5.0"
(0518 SR
"Tapis2" —Q —S
&
11124 >=1
"FL1" — T21 11184
"T21" "FL1" —Q
QO S_ODT
"Tapisl" — —S Bl —
S5T#6S —TV BCD—
Q3 >=1
"LAUTO" —Q —R Q—
&
Q2
"LMANU" — (©:5Y0)
"Tapisl"
1016.6 =
"BPtapisl" — —
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| Réseau:2  Vérin1l
M21.0
"M21.0"
N
QB &
"Tapisl" — — M12.0
"M12.0"
1112.4 SR
"FL1" —Q) —
>=1
112.0
"V1s" — Q12.0
"V1+"
QU3 =
"LAUTO" —O —
Réseau:3  Vérin 2 sort
M21.1
"M21.1" M12.2
P "M12.2"
112.1 SR
"Wirt — S
>=1
112.2
"W2s" — Q12.2
"V2+"
Qu3 =
"LAUTO" —O —R Q
Réseau:4  Vérin 2 rentre
T1
"1
S_ODT
112.2
"V2s" —S
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BCDH
o3 >=1
"LAUTO" —OR Q
&
@u2
"LMANU" — Q12.3
.
101@.4 =
"BPRV2" — —
Réseau:5 tapis2
T2
o
S_PEXT
112.3
"V2r- —S
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S5T#5S —TV
BCDH
o3 >=1
"LAUTO" —OR Q
&
@u2
"LMANU" — (i
"Tapis2"
101G@.7 =
"BPtapis2" — —
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